Zahlen-Rohren (Telefunken) 1
Riire | 1, | I, ll.:"; u, 1 | a 3 [ 4 5 | i 7 l B B- I, ]n,r[
RE 034 4d 0| 200 Al G in 50
RE5044 |44 0| 150 40] Sg G Al 2,5 40
RE0S2 |[2d 0| 150 Al G 2,5 100
RE 054 id o | 200 At G 2,5 80
REOs2 | 2d o0 | -150 Al G 23 4
RE 064 ad 0| 100 Al t,:v 10 40
REO72d | 2d O 40 0| Al 4 G Sg 10 100
RE 074 4d 0| 100 Al %6 10 50
RED7Ad | 4d 0O 60 40| A1 G sg | 10 40
RE D84 4d 0| 100 Al G 10 50
RESD94 |4d 0| 150 60| sg & Al |25 100
RE 102 2d 0] 150 Al G 25 40
RES105 |[5d 0| 150 10| A1 & sg |25 70
RE 112 zd 0| 150 Al G 25 40
RE 114 ad o | 150 Al G 50 40
RE 122 24 0| 150 Al G 25 &0
RE 124 4d 0| 150 A} G 50 &0
RE 134 4d 0| 150 At G 50 50
| RE 142 2d 0| 150 Al G 25 40
£|RE 144 4d 0| 100 Al G 10 40
-
EleE1s2 | 2d 0| 450 Al G . 50 50
$lRessa | ad o 1 At © ;= |10 B0
siRES16a |4d 0] 150 sl A1 G| 39 IR 25 80
Elress7a |4d o] 150 10" A1 o | S8 1% |0 so
;1 RES182 j2d O] 150 40{ Sg G lar| 25 w0
EIRES192 | 2d 0 150 0| S9 G At | 25 40
miRES212 |2d 0| 150 100 Al G | 39 ~{ 25 40
L RE 304 4d 0| 150 Al G 50 60
RE 352 2d 0| 150 Al G 25 60
Enc.u:m ad o 30 Al 25 60
RES384 |d4d 0] 150 s0| AY G Sg Sqg | 25 8o
RES374 l4d 0| 150 100 A1 G | 359 50 50
RE40ZB | 2d 0 | 150 Al G 2,5 6"
RE402B | 2d 0 | 150 Al G 2.5 &
REZ404sH 47 a | 150 Al A2| K 25 55
REMSOY | 1d 0| 200 Al G 25 50
RGN3DA | 4d O 50 Al A2 50 60
RENSi1 | 1d 0] 150 Al G 10 30
RGNS5B4 | 4d © 50 Al 100 40
RENGSOY | 1d O] 150 Al G 50 50
RE 604 ad o | 100 MG 50 40
RE 614 ad 0 100 Al G 50 10
RES664d | 4d 0| 200 &0 Al G Sg 50 50
RENTO4d| 41 0| 150 Al sg| K G 25 80
RENB04 | ¢ 0| 150 Al ¥ 25 50
REN904 | ¢ o [ 56 Al G k 725 10
= | REM 914 ! N i Al G K 10 50
= | REM 924 i | 150 A r3 K 10 70
" |REN 924 1N 10 K Al 25 30
RES 964 ::! f I [0 . r LY | 2% 5]




. Zahlen-Rohren (Telefunken)

Ribwe Ju,+u,| w, [0 [0 | 2 [ 8| 4|35 6|7 8 |0/[]
REM 1004 | 4 i a | 200 M 6| Kk 10
RGN1054| 4 d a| 90 Al A2 100
RGN1064| 4 d 0| 90 Al A2 100
REN 1104 4 i 0| 150 At G| k 25
RENs1204] 4 i 0] z00 60| 59 G| K Al 10
RENS1244] 4 1 0] 200 100 Sg G| Kk At 10
pens1224| 4 i o] 150 e0| A1 A1l & sg| K G 10
ReNs1234| 4 1 0| 200 60| A1 G| sg sg| K K 10
RENS1254] 4 | 0| 200 60 G sg| K A1 10
RENS 1254 4 i 0| 10 Al K Y
RENS1268] 4 i o| 200 100 S¢ G| K Al 10
RENS1278] 4 i 0| 200 100| S99 G| K Af 10
Rens1284] 4 1 o| 200 100 s9 G| K Al 10
RENS1294] 4 i o| 200- 100] S99 G| K At Al 10
RON1304| 4d 0| 50 Al 100
qu:mﬁ 4io0l| 200 100] A1 | K Sq Sg 25
RENS1384) 4 0| 200 100 A1 G| sq K 50
RGN 1500| 0 o | 200 At Az Tw
RGN 1503| 2540 | 90 Al Azl 100
RGN1504| 4 d 0| 90 Al A2 100
REN 1814| 0 120 | 200 At G| Kk 10
REN 1817d 0 i20 | 150 Al G| kK G 2,5
RENS 1818} 0 i20| 200 100| S G| K Al 10
RENS1819| D i20| 200 40| S G| K Al 10
RENS 1 0720] 200 60| S9 G| K Al 10
REN 1824| 0 120 150 Al G| K 10
REN 1822| 0 i20| 150 Al G| K 50
RENS 1323 sl 0i20| 200 10| A1 6| K sq sg 50
RENs1824| 0 i20| 150 eo| A1 Sa| K sg| G 10
REN1826 | 0 i20| 150 Al G| K 10
REN 1826| 0 i20| 10 K Al 1
RENS1834) 0 i20| 200 40| A1 G| sqg Sg| K K 10 30
RENS1858] 0 i20| 200 &0 G sa| K Al 10 40
RENS1854] 0 i20| 10 Al K 1
RENS1884| 0 i20| 200 100| S¢ G| K Al 10
RENS1894] 0 i20| 2200 100 s G| kK Al 10
RGN2008| 4d 0| 90 Al A2 Al 250
IlGH 20005| 5d4d O 20 Al A2 250
RGN2504| sd 0| 90 Al A2 250
RGN 4004| 4d 0| 50 Al A2 250




Bittord

Lahlen-Rohren (Telefunken) 3
Riire |0, + 0| w | w, | 1 2 3 | 4 5 | 8 7 B | 8| L, | %
RFE 45 o) 200 o] A Sa: Sal & G | 25 s0
RFG 1 + d al| so At | 25 3o
RFG 3 L3 a| e At | 10 100
RFGd+ |4 o 0| 200 Al | 25 so
RFG § 6 1 0 ) Al 10 60
RGa7smel25d0 | 30 At 100 &0
RGOZ1,48,325d 0 | SO Al A2 250 40
RS241 |4 4 0| 200 Al G 50 40
RS282 |4 4 0| 200 Al G 50 40
RS MEB+ | 2+ 10 200 Al G K 100 50
RS 245 2 d 0| 200 NE 8 s G | 25 350
RS 249 2i+10 | 200 AT K G |25 70
Rs276 Jod+10 | 200 NIREE G |25 40
Rs287+ |2i+10] 200 0| G Sg| K K Al | 50 &0
Rs288 |1 i 0| zo0 100| A1 sg| K G |50 40
Rs289 |4 i o] 200 6] s¢ o | « | A1 | 50 0
RS291+ |7 0| 200 50| 59 K AL ik G |00 40
adabapprs
w5297+ |2 d o] 200 G Al orbindan 50 &0
Es “9 2 | - “:' Ilflt'.l A0 G 59 K m. awliwn All 50 6ﬂ'
RS 398+ |2i+10 | 200 Al G | temaki.en 100 40
Bv209 |4 0] 200 0] A1 sq| K c | 25 50
Rv210 |4 i o | 1s0 G| K A1 100 50
RY 118+ |7 4 o | 200 Al 6 50 4D
RY239+ |7 d 0 | 200 Al G 100 50
RY258+ (7 4 o | 200 Al G S0 40
|

av2rs |7 i ol 200 6| K Al | 25 50
RY 322+ (2 4 0| 200 At B 10 50

B Bl




..-' B “ri =™ 4 P : ..- = {

Enti ] ) 2 7 A-Rohren . . A
Rinie” [, 50,0 0, [0, | 2 | 3] a|s | w |7 |88 | o
AB1/AB2|4 i D 10 A2  A1] K K A1 2,5 30
ABCH 41 0| ‘1o Al K G 10 70
ABC 1 4 i 0 10 A2 Al K 2,5.30
ABL 1 41 0| 200 &0| AL Sy K . G 25 &0
ABL 1 &1 B .19 © Al A2l K _ | 25 30
AC 2 4 i 0| 100 Al K G 10 70
AC 106+ |4 i 0 | 150 l K At G | 25 s
AC101 - |4 i 0| 150 Al K g ¢ G 25 50,
ACH 1 41D 60 Al G- | K 1a 30,
ACH 1, 41 0| 200 &0 Al G Sg| K G | 25 30
AD 1. 4 ¢ 0 %0 2 BV 1 - |00 50
AF2 4 0| 200 10| .59 G| K Al Al | 10 80
AEI . |4 i 0] 200 100y A1 . | Sg K K G 25 50
AF7.. |4 i 0] 200 1004 A1 - } Sg 6 K K . G 10 &0
AFT00F |4 i 0°]-200 150) ‘At Sg| 6" K | | 25 80
AHt1 - |47t o| 200 “éo] At-<"83| 8q° G |. K- G 10 40
AK$ - |44 0of 200 60 A1 G .|.Sqg  Sqg| K K- | 10 40
A2 " {47 0 }..200 . 60): Al - G:1:.8q Sg | K. G |-10 30
AL - [4-d D | 200 °100] -AT G i 5g | 75 70
AL2/AL3]4 i 0 | 200 100} - AL~ - G-] 5¢ Sq| K G | s0 350
ALd - |4 i 0} 200 80} A}: G | Sgu K ) 25 S0
Aﬁﬁ,'“'{r_:'_'-'-.l--ll_ io| 200 100] A1 -e.] sg . 100 50
AMI . {40 0|)-200 - - Al -G |V Al G K | | 25 4D
ASI@ L |4-dio f 2000 - | A6 | | . |50 e0
4?’—1&"-’:'-‘ 1840200 - Al -G |. 50 60
AS289 |4 i-D | 200 40} Sq.°G K ' | Al | 50 &0
A g gD =50 o Al A2 . |2s0 50
AXSa' |4 d0 %0 A AR G {250 40
AZY., |t 4 0| 70 A2. Al . © 100 {830
AZY:- . |4 d°D 20 Al . A2 .. 250 50
AZ 3 1.d 0| %0 Ad A2 ' 250 40
AZ4 - |a'doD %0 - A2 A1l - Al 250 50
AZ 11 4 d D 50 Al A2 " 100 50
AZ12 f4 d O 90 A2 Al - Al , 250 SD
AZ 14 4 40 90 HT At A2 H2 100 80
AZ 31 4 40 90 B b Af A2 H2 100 40
AZ 32 4 d 0D 90 H1 At A2 H2 250 S0
AZ 33 4 d 0 90 H1 Al A2 H2 250 40
AZAY |4 d D %0 A2 Al HT  H2 100 &0
AZ 50 4 d0 %0 Al A2 250 40




B-u. C

k9704

BIETODrT

2t ganct)

-Réhren (ind.:

B- u. C-Rohren (indirekt gehelzt) '- 5
Riihre U U, [ 1 | 2 | 2 | 4 - 3 | 6 0/,
SN NN NN KR AN
-‘ P i
BB 1 6+ 10 10 A2 i TG ; A1 |25 3D
ACH 1 44 20 &0 : Al G K 16 50
BCH § d+ 20| 200 40| Ad G Sg| K K 25 40
AL + 30 ] 150 &0| At Sg| K G | 50 50
|
CB1/CB2| 3+ 10 10 A2 Al K Al 2,5 &0
CBC 1 3+ 10 10 Al A2l K K | 25 30
CL2 o 3+ 10| 100 Al K K G 10 70
CBL 1 44 40 10 _ A2 A1l K K 25 80
CBL 1 4y 40| 200 60| A1 Sg K K | G | 50 50
COL & S4 30 10 A2 All Kk K | 2,5 30
CHL 6 54 30| 200 40| Af Sq K K G 50 70
CBL 31 4+ 40 10 K H1 |, All A2 H2 K | 25 30
CBL 11 44 40| 200 60| K HT . Al Sg] H2 K G 50 45
Cc2 34- 10| 100 Al K G in 70
CCH 1 44+ 20| 150 i All G K K | | 25 70
CCH 4+ 20| 200 60| A1 -1 K sg] K K G 25 30
€CcH2 N+ 130 60 G At K K 10 &0
CCH 2 N+ 30| 200 &6| A1 K Sg K K G 10 50
CCH3Is 7+ 0] 100 K H G af] H2 K | 10 50
CCH3s |7 0¢f 200 60| K HI] A1  S5g) K H2 K ! G 10 - 80
CiEM? |6+ 01 200 Al G| Al G K 25 40
CFu/CF1|3— 10} 200 ‘00| Al S Sg| K G |25 0
| CF3 3+ 10) 200 100 Al Sg K K | G 25 50
CF7 3+ 10 200 100 Al Sg K K, G 10 40
CFic/s1 | D+ 30| 200 100| A1 1 S5 K K G |25 40
CH 1 3+ 10| 200 60y Al Sq|] Sq G K i K 10 40
CK 1 31 40 200 &0 Al G 5aq 5q K ' K 10 40
CK 3 0+ 20| 200 60] A1 K1 Sq9 Sg| X G 10 50
CL 1 3+~ 10| 200 60| A Sg K I G 25 &0
‘CL 1 2+ 20| 200 &0 A1 Sq K G |100 50
CL4 6+ 20| 150 80| Al 5g K G | 50 40
CLé6 5+ 30| 150 0| A Sg K G | 50 80
cL3 5+ 30) 200 0| K Hi] Af sql G
Y1 0+ 20 30 Al Al K
CY2 0+ 30 30 | A1 A2l K
CY 34 0+ 20 30 H1 Al
CY 12 G+ 10 Ele H1] Al K A2
Ribre |u, +u,| M, w | 1 | 2 3 | ¢4 ] 8 |




w-Rohren (direkt geheizt)

e T ¥ 1T T3 § 7] | it L Hﬂllﬂl‘{_l

Ribhre (W, W[ 0, ) W | @ e 3 | 4 5 i 7 B 8- | I, |9
DA 50+ |1 0 10 At | (1 40)
DA $D t i D 30 Hi al] K H2 (2,5 50)
DA 101 D 10 H1 Al H2 (1 40)
DAC 1 1 O 10 Al G i 4D
DAC 1 i 0| 150 Al 2,5 30
DAC2M |1 0O 10 Hi Al H2 i 4D
baci11 |1 0] 150 H1 Al HZ| 6 | 25 30
DAC2S |1 O 10 Hi Al H2 i~ 40
DAC25 |1 0] 150 HI Al G H2 2,5 30
DAC3I1 |1 O 10 H1 Al H2 1 40
pAC3: |1 0] 150 Hi| Al H2 G 2,5 30
DACdiw4 1 O 10 Al 1 40
DACHMMwH 1 0] 150 G Af 1 80
DAF 11 1 0. 10 Al 1 40
DAF 11 | 0| 150 &0} sa|l G Al 25 70
DAF40 |1 O {0 H1 Al H2 A4 40
DAF40 |1 Q| foo 60| H1 Al Sg G H2 2,5 50
DAF 44 { D0 10 HI Af - H2 1 40
DAF 44 i D] 100 &0] HI Al 59 G ‘H2 2,5 50
DAF91 |1 O 10 Hi Al H1 1 40
DAF94 |1 0] 100 0] Hi sgl A1 G Hi 2,5 50
DAF9 |1 0O 10 H1 Al H2 1 30
DAF9 |1 0] 100 ml H1  Sg| At G H2 . 1 12°40
DAF191 |1 0| ‘1p- H1 Af - I He o8 1~ 4D
DAF191 §1 0O 60 AO| HI Sg] Al G H2 25 80
DAHS0 |1 0O 10 H1 Al H2 H2 [ 1| 40
DAHS5G |1 O] 100 40| Hi Al G Sg H2 H2| & 2,5 40
DBC21 |1 O 10 | Hi Al A2 H2 | 40
DBC 21 1 0] 150 H1 Al H2| G 10 40
DC 11 f @ &0 Al G 2,5 40 -
0cC 25 1 0] 100 H1 At G H2 10 40
DC 4wt 1 0 &0) G Al | 25 40
0C 80 1 0] 100 G HI | HZ Al (10 80)
DC 90 i D} 100 H1  A1] Al i G H2 2,5 50
DC 96 1 uf 60 H1 G HZ A1| Hi 25 30
poccoo |1 o 100 M a1l e | H2 (10 50)
pCccop |1 a1 100 H1 G Al I H2 (10 50)
DCHi1 1 o] 150 Al G 10 40
DCH#1 |1 0O 80 &0 - sal G At| : 2,5 40
DCHM |1 0O 60 Hi G Al H2 2,5 70
DCHM [1 0| 150 &0 H1 Al 5g H2| & | 10 40
DCH22 |1 0O &0 H1 Al G . H2 25 70
DCH2 |1 0] 150 60| H1 Al Sg G | H2 10 40
DCH2S |1 0O 60 H1 Al G H2 2,5 70
DCH 15 [t ©0] 150 0| HI A Sq G | H2 | 10 30
scH#tw+| 1 0| 150 Al G {0 40
DCHA1w 1 0 60 60| A1 Sg| G G 2,5 4D
pps1+ |1 @ 60 Al G (2,5 50)
DD%0 |1 O 50 H1 G H2 Al]| HI 25 40
poD11 1 0| 150 Al G ' g 70

Rawre (Wo+u|u, Ju | v [2 3] 4|86 |78 el T
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—— oy -

D RG“LF‘E i-'l ..Fl."_‘l:llrlq'..‘-ﬁn. i~ R A )
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Ribre U, +U,| W, |, |1 [ 2] 2 " 4[5 ]7? @]l %
DPD11 |1 ol 150 All & 10 70
pbD25s |1 o | 150 H1 Al G Hz2 10 60
pbD1s |1 o | 1s0 Hi . Al H2 10 &0
poD4iwH 1 o | 150 Al G i0 70
PPD4MMwH1 0| 150 Al 0 70
DF { | 0| 150 60| A1 Sg i 1 80
DF 11 I 0| 150 &0{ A1 5Sg| G { 80
DF 21 1 0 150 &0 H1 Al Sq H1 H2| G { BO
DF 12 t 0] 150 &0 HI Al sq | Hi _ H2| G { &0
DF 13 1 0| 150 60| HI A1]| Sg HI G H2 (1 B89
DF 15 1 0 151 60 H1 Al 5g H1 G H2 2.5 &0
DF 26 1 0] 150 | HI Al| Sg HiI| G H2 2,5 30
DF 31 i 0 | 501 &0 Hi1 A Sg H1 H2 G 1 80
DF 32 1 0 150 60 Hi Al Sg H1 H2 c] 1 80
| DF 33 1 0| 150 &0 H1{ At Sg H2 G { 80
DF&#iw+ 1 0| 150 0| Sg G| A1 2,5 40
DES1+ 115 0 60 20| Sg o Af f 30
DF6d+ |05 o 20 20| A1 Sg{ HI G H2 gar. Ausschl, { 30
DF &7 <+ I 05 0 40 0] Al S8g H1 G H2 ger. Ausschl. 1 30
DF 91 1,5 0] 100 60| Ht At1]| S5g G H2 10 30

IDF 92 15 0} 1wa 60| HI At1| sg G H2 2,5 70
DF 96 |} 0] wa 60| H At]| sg G H2 2,5 40
DF 97 i 0
DF167+ |05 © (0 20 A1 Sg| A1l G H2 | 1 30
DF191 /1 0| 1o0 60) HI Al] Sg HI G H2 i0 30
IDF 650+ |05 0O 20 20 Al 5q H1 L) H2 ger. Aussdhl, 1 30
DF 904 1 0| 100 100] HI Al| Sg HI G H2 2,5 &0
DF 906 1 0 60 60| HI A1]| Sg H2 G H2 - 10 40
DFF 50 15 0] 0 200 H1 G Al Sg H2 (2.5 100)
|DFF 50 (,5 0 60 20| w1 Sy Al|l G H2 (2,5 100)
DFF 51 1,5 0 0 20| H G Al  Sg H2 (2,5 B0)
DFF 51 ,5 0 50 20 H1 59 Af H2 (2,5 80)
DFF101 |15 0 60 40| A1 Hi| G  Sg . H2 (2,5 &0)
DFF101 |15 0O 60 &D H1 Sg| A1 H2| G (2,5 &0)
DK 1 . 1 o0} 1s0 | A1 G Sg  Sqg K 2,5 40
DK 21 1 0| 150 60| Hi Al Al] Sg 3g H2| G 2,5 30
DK 12 1 a 150 &0 H 1 Al Sg G Al Sg H1 Hz f S0
{DK 235 1 04 150 0| HL * Al] Sg G G Hi | At H2 (1 50)
DK 31 f 0| 150 &0 HI| At Al| Sq Sg| H2 G 1 50
DK 31 1 o 150 & HI| AT Sg| G Sq| H2 K 2,5 40
DK 40 {0 150 | HI @ At1] At G Sqg Al H2 2,5 40
DK 91 1,5 0] 100 60| HI A1] Sq G G H2 2,5 90
DK 92 1 0] 00 60| HI Al]| Sq G Sg G| H2 10 30
DK 95 1 D] 100 60| Ht A1] Sq G S G H2 2,5 30
DK192 11 0| 100 60| H' A1| Sg G S9 G H2 2,5 3D
DL 1 1 0| 156 &0 A1 G Sg 40
DL 2 1 "o | 150 6| A1 G Sg 10 40
DL 14 1 o 150 60| A1 sgl| o 0 40
DL 21 i 0] 150 60| H A Sg| G H2 10 40
DL 22 1 0] 150 &0 HI  A1] Sg Hi G H2 10 40

Wohre (U, tu) 0, w | 1 [ 2 | a3 | a |56 ] 7| a]as I, | %%




D Ronten \alirdke yeasies

| Ribre |, +0,) UL, ) U |1V [ 2] 3 a5 ]z ]88 [s@]1 o
DL 25 it ol 150 s HI  AV| Sg  Hi G H2 10 40
DL 33 I ¢ | 150 100 HI| Al Sgq| & HI  H2 (10 100)
DL 35 i ¢ | 150 40 H| A1 sgl| G H1 10 40
DL 36 I 0| 150 &0 H1 Al sg| G H2 10 40
DL 44 | o | 150 100 H1  Af Ssq G H2 H2 (10 s50)
DLAiw+ |1  C | 150 &0 G At Sq 10 40
DL 51+ i C &0 60| Sg G Al (10 30)
pLéda+ |1 0o 20 200 Al Ssg| HI & | H2 gar, Ausschl, 1 10
pLeés+ |1 o] 20 2| A1 sg| G (2,5 30)
DL &7 4+ 1 0 20 20 Al 5g Hi G H2 _ger. Ausschl. i 30
DL&3+ |1 0 200 20| Al Sg HI G H2 gar. Ausschl. i 40
OL7I4+ |1 0 60 60| Al sSg| G (2,5 40)
DL 72+ 1 0 60 60| Al Sg G 10 50)
DL 91 1 0] 100 6] HI A1] G Sg H2 10 100)
DL 92 25 0] 100 60| HI @ Al| 6 sg H2 (10 80)
DL 93 t 0| 100 ] W At| s¢g G H2 (10 100)
DL 94 25 0| 100 40| HI  A1] Sg G | H2 (10 80)
DL 95 25 0 ) 100 60| H1 Al G Sg 5 H2 {10 80)
DL 96 i1 0] 100 6| H A1] Sg H2 & | Hi | 10 40
DL167+ |1 0| 20 20| A1 sgl HI G | H2 | 1 30
oL |1 o s | W A1l 6 sg| W2 A1] Hi 25 40
jjoL1e3 |1 0] 100 60| HI A1] sq & | Hz Aa1]| H 25 &0
.|pL6s0+ |1 0| 20 30| At Sg| HI G | H2 | ger. Auu.:hl.| 1 30
sipLear |t 0| 100 60| Hi  A1| Sg | G| H2 ... 1 ~4§ 325 a
5| DLL 21 { 0 l 150 60| H1 G Al | Sg "H2 10 30
ifpe2t 1 o) 150 so| M Sg G| Al H2 10 30
oLt [+ o] 156 e0] HI A1] 6 sql | H2 | 0 50
HoLLdot |1 0| 150 &D| Hi Sg Al G H2 - (10 S0}
jpiLd02 y25 ol s 60| HI Al G ° sg H2 (2,5 BO)
DLL1DI |25 O 0 60| Hi Sl Al G | H2 (2,5 BO)
DM 21 1 o] 100 H1 Al A1 G H2 (1 80
pM7e+ |1 o | 100 G H1 | H2 A1 { 3p
DM71+ |1 0| 100 G H1 | H2 At 1 30
DY 80 t o] 30 Hi  H2 (A1)
DY 86 { o] 30 Hi  H2 (A1
. I {
|
(N i I |
; |
Wibre U, +W| W, [0, [ 1 [2[a [ a5 8 ]7] a0 ). o




E-ROonren (INAirekt geneizy)

Rébre [0, -0, u, | W, [ 1+ | 2 | 3 | a |5 | & [ 72 |8 |a ]| 1 [o
EA 40 & O 20 H1 Al K H2 (25 50)
EAS04 |6 O 10 K Al | (2,5 40)
EA 111 & D 90 Al K |25 40
EA 950 b 0 10 Hi. " K H2 Al 2,5 30
EAA11 |& D 10 A2 Al| K K. (2,5 30
EAA® |46 D 10 K Hi  H2 K A 2,5 30
EAA91 |46 D 10 Al H1 H2| k K 2,5 10
|EAB1 & .0 10 Ad A2 K : (2,5 30)
EAB 1 & 0 10 Al]l K 2,5 30
EABCS80 |[46° O 10 Al K H1| H2 | 2,5 40
EABCE0 |6 © 10 Af Hi| Hz A2| K 2,5 40
EABCe0 |4 0| 200 Hi| H2 K G| Al | 10 40
EAC9 |6 D 10 Al K Hl  H2 (2,5 3{1{
EAC9 |& D] 150 Hi  H2| K G Al (25 50
EAF i1 6 D 10 H1 Al K H2 | (2.5 30)
EAF 21 & D] 200 &0| HI A1] Sg K G K Hz (25  40)
EAF 44 § 0O 10 H1 Al K H2 2,5 30
EAF 441 & 0| 200 0] HiI Al 5q K H2 i0 40
EAF 12 § 0 10 H1 Al K HEI 25 30
_|EAF @ & 0] 200 &0] HI Al K| sa o K H2 10 40
| ] . -
S|EBI/EB2 |6 D 10 Al A2 K | A2 2,5 30
s| EB 4 & . D 10 K Al AZ| K 2,5 30
~.| EB 11 & 0 10 A2 A1) K K . 2,5 30
2| EB 34 & O 10  H1T| AT A2 HZ K 2,5 30
3 EB 40 & 0 10  Hi At A2 K H2 1} 2,5 30
— _ . . ; . i
| EB 41 & D 10 Hi K- Al A2] K H2 2,5 30
¢| EB 91 & D 10 K Al Hi - H2]| K K A2 2,5 30
£| EBC 1 & O 10 | Al Al]l K 2,5 30
e | EBC 1 & 0] 200 . Al R I G 25 40
w| EBC 3 & 0] .10 A1 Azl K 2,5 30
EBC 3 & D] 150 Al K G 25 30
EBC11 {46 O 10 2 : A? K 25 30
EBC11 |6 0] 100 All @ K 25 30
ERC 33 & 0 10 H1 M| A2 H2 K 2.5 30
EBC 3) 6§ D] 150 Hi| Al HZ K| G 25 30
EBC 41 6 0 10 H1 Al A2] K H2 25 X
EBC 41 & 0] 100 Ht A1l G K H2 10 40
EBC 51 & 0 10 Ht A1} A2 K K H2 2,5 30
EBC 51 & 0] 100 H1 K Al K G H2 (10 80}
EBC 91 & 0 10 K HI  H2| Az At 2,5 30
EBC 91 5§ 0] 150 G K H1  H2 Al 10 30
EBF 1 & D 10 Al A2l k 2,5 30
EBF 1 & 0| 200 100 Ad Sg K | G 10 80
EBF21 & O 10 Al A2| K 2,5 30
EBF 1 & 0| 200 100]| A1 5g K G 10 40
. : i}
EBF 11 & 0 10 A A2 K 2,5 30
+ | EBF 14 & 0| 200 100 sql G Al K. 10 80
= | EBF 15 & 0 10 Ad A? K 2,5 30
= |EBF 15 & 0] 200 100 . Sq| G Al K (10 70}
ECF 12 & 0 10 K H1 ALl A2 HZ K " 2,5 30
) |
Rilkre |8, tu,| B, | 0, |+ | 2 | 3 1 5 | 8 | 7 g8 | o | I, |%
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e omraes Frmgagh
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. :'i-“"' | E-Rﬂhlren (indirekt geheiz!) 10

E<Kohren [indirekt geheizi)

W+, | W, |1 | 2] 3] 4|5 |87 ]88 ]T[%
§ 0l 2008 100] K HI | Al sgf H2 X |G | 10 6D
é 0 10 H1 K Al _ A2 K H2] 2,5 30
& 0| 200 100| HI K Al Sg K H2 | G 10 &0
& 0| 10 K Hi | H2 Al A2 (2,5 30)
& no| 200 100 Sg G| K H1| H2 Al K (10 50)
5 0 10 Al A2|l K ' -~ 25 30
5 0| 200 0] Al Sg K G 25 &0
& o 1o H | Av A2| & H2 2,5 30
& 0| 200 00| 1  Al| G Sq - k.. 9 50 50
6§ 0 10 H1 Al A2 H2 K 2,5 30
& O] 200 60 H1| At sg|l H2 K |6 25 B0
& O 10 H1 Al A2| K H2 2,5 30
. 6§ . D] 200 10| H1 A1| G Sqg K  H2 50 50
& 0] 200 Al. - K 25 &0
6 0| 100" H1 Al|l G K H2 - | (10 90)
s o] 100 H1 A G K H2| (10 100)
& 0| 200 G| . K Al w70
& o] 100 Al G| K (25 50)
& 0| 100 G K Hi | H2 Al | (10 90)
& o] 100 - G K HI | Hz . Al (10 100)
6 0| 200 Al K | HI  H2 G| K. 25 &0
6 o] 100 HtT M| G K : H2 10 70
6 0| 100 H1 Al G K H2 10 7D
6 0| 200 Al G| kK - HI| Hi - H2 25 60
& 0 200 - Hi H1 AlY G K | H2 25 60
& 0 l 200 - _ H1 H1 Al G K H2 25 70
& 0] 200 At G K Hi1 | H1 H2 25 70
¢ ol 200 | Hi| H A1l 6 x |H2 | 10 30
b 0| 200 Al G K H1 H1 H2 | ia -13o
& 0] 200 Al G K . Hi| H2 h K ~ 35 BO
& 0| 200 H1| H2 A1l G K |k 25 80
& ¢ | 100 Al | HI  H2 G K i0 BOD
& 1| 100 Al] H1 . H2| G K 10 BO
6 0 150 ] Al K 75 5D
6 0| 200 40| A Sg K G 10 6D
£ n| 100 Al G K 10 20
& [ 200 100 sg & Al K i0 BD
6 0 60 G Al K | 10 60
6 o 200 80| A1 K Sg K G 10 50
6 0| 150 G A1l K 23§ 5D
& 0| 200 0] A1 K Sg K 10 50
& 0| 100 G Al K 10 BD
& 0| 200 100 A1 Sg K 10 &0
& o 1s0 A - G K 25 40
ECH11 |4 0| 200 &0 sg| G Al K K 10 40
ECHM |& 0] 150 H1 Al G H2 | K 25 70
EcH2 |& o 200 &0 HE Al s g G| K H2 | K 10 60
ECH 33 |4 0] 150 K H1 G Al HZ K 25 40
ECH31 14 0o 200 60 K H1| A1 &g H2 K |G 10 SO




. Met E-Rohren (indirekt geheizt) 1
Mohes U W] 0, [0, [0 T 2 s 4[5 8] 78 |8 | 1, o
ECH3 |4 al! 100 K H1 G All H2 l 10 80
ECH35 |6 a| 200 60| x Hi| A1 Sq H2 K | G 10 50
ECH# |& a| 100 H1 Al G K H2 10 70
ECH 41 & o 200 60| HI Al K | Sg G K H2 10 50
ECH4 |& a| 100 H1 Al G | K H2 10 70
ECH41 |6 0| 200 60 Hi At K| 59 G| K H2 | 10 50
ECH4) |6 o0 100 | HI Al G| K H2 10 70
ECH4 |6 0| 200 é0|] HI At K | Sqg K H2 10: " 50
ECH71 |6 0] 150 H1 Al G H2| K 25 70
ECH7t |6 0| 200 60| Ht  Af Sg G K H2| X 10 40
ECH81 |& D | 100 K Hi | H2 Al G | 25 40

|Ecuer |6 o 200 100 s o | 'K  ml| w2 A1|l o {0- 80
ECH1t3 |6 D| 100 H1 Al G K. H2 g 70

JECH113. |6 D] 200 40| HI Al G | Sg K H2 10 50

clecL1s Je 0 0| 150 Af|l G | |10 so
ECL 11 6. 0| 200 60| G Al Sq K 25 60
ECL80 |6 * o | 200 : Al - G K H1 H2 ' i0 70
ECL80 |s - o] 200 0 K H| H2 Al] K Sgl | 25 &0
ECL81 |6 0| 200 | G K  Ht| H2 Al 10" 70

~JECLBt 6 0| 200 40 Sg| K HI | H2 Al K| o | 25 a0

T R : i

Sleci1a e a| 1s0 RTINS | k H2f 0 40

sleciis |6 o 200 150 Hi M G| sg K H2 50 60

IEPRIT 16§ -0 | 150 " A1l G K 10. 80

elepD11 s 0| 150 At | 6 K 10 8o

*EII?EI?__IH & o] 150 | Al © K (10 70)

= Ao . : = m : .

=[EDD111 } & o} is0 Al K. G (10 70)

OlEEY & 0| 150 40| Af 59 Sg| K . | 6 |10 50

RBlEEs0+ (6 o0 150 60| HI sg| At : K G Hz | (10 60

m| EEL 74 6 - 0| 150 20| HI 59 G Al H2| K (2.5 403

m|EEL71 16 0| 200 150| Ht1 Al G Sg H2| K [100 40)
EEP 1 &5 0| 150 &0 At S  Sg| K | 6 [(10 80)

|EE§ [6 o] 200 100] Af S5g K K G |10 &0
EFI & 0| 200 100] Af S5g K K G | 25 30
EF 375 & Q]| 200 100]| Al 5 K K G 25 50
EF &/7 6 0| 200 100] A 5g K K G 10 &0
EF 6 l & 0 200 150 Al K. 5q K K 0 10 &0
EF ¢ & 0 200 &0 A Sg K K G 19 &0
EF 14 & 0] 200 100] A1 Sg G K 25 40
EF 12 6 D] 200 1o0f Al Sg| G K 10 70
EF 13 & D] 200 100] Al Sg G K K 10 80
EF 14 é 0] 200 é&0| A1 G K 5g K K 25 40
EF 15 6 0| 200 100|] A1 sSg|] G K K K (25 40
EF 22 & 0| 200 100|] HI Al]| Sg K G| « 12 25 10
EF 25 6 0| 200 150 Al Sqg K K G ({10 60)
EF 36/37 5 a 200 100 K H1 A Sg K H2 K £ 25 40
EF 18 6 0| 200 150] «x Hi| A1 Sg| «k HZ K | & | 10 &0

- | EF 39 & 0] 200 100 K H1 Al 59 K H? K G 25 40

| EF 42 & 0| 200 60 HI AT K K G sy | k H2 (10 60)

= | EF 41 & D 200 0 H1 Al K. te) G K H2 10 &40
EF 4. & 0 2010 &0 H1 A K, K. 5 7 K 2 (10 90)

e SO
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CRihee W LA W W, | 12| 3 | 4 |05 [ 7| 8 | 8- | 1, |9}
3 1 o |
EF 43 {6 0| 200 100] H1 A1| K K Sg G K H2 25 40
EF 50 & 0| 200 150 sg| A1 K K G K (10 S0)
EF 51 & 9o 200 150 H1I A1y K K Sq G K H2 (25 6D}
EF 53 & 0] 200 150 Sg| A1 K K G K (10 50):]
EF 54 & 0] 200 &0] M MI 'Sg G K H2 (10 am
EF 55 & 0] 200 150 Sgl A1 K K G K | (25 au}
EF 80 6§ O] 200 150 K G K Hi| H2 K Al sg| K 25 60 -
EF 85 6 0] 200 60| K G K HI| H2 K Al Sg| K 25 40
EF 89 6 0] 200 100 K G K H1} H2 Al Sg| K 25 60
EF 91 6 0| 20 150| G K H1  H2| Al K Sg (25 30)
EF 92 & 0] 200 150 6 K H1, H2| A1 K 5g | | (10 B80)
EF 93 & O] 200 150 G - K Hi H2| A1 sg| k 25 60
EF 94 6 0| 200 150" G K | Ht. H2| At sSg}| K 25 40
EF 95 ¢ 0] 200 60| G | K H1 - H2] A1 sg| K Al 25 40 .
EF 98 6 o] 200 100f G K Hi - H2|] A1 Sg| K 25 40
EF114 |6 o | 200 1we|] A1 ‘6| kK sg| Kk K | 25 40
|EF112 . |8 0| 200 100| AL G & sg| K K - ia 70 .
EF 410 .Is 0] 200 100 HI Al s g G K H2 25 50
EFe0D |6 0| 200 100] K. G K HI| HZ K Al Sg| K 25 &0
EFB0Y |6 ul 200 mnl K G K Hi | H2 Al Sgl kK | 25 70
|EFBOA |6 O 200 150| K K K Hi|- H2 K Al Ssg|l o | 10 70
JEFBDAS |6 ©O)] 200 10| K K | K HI| H2 K Al sg| & i0 70
|EFF50/51]6 0] 200 150 ~ A2| 59 © K (25 60)
|EFFs0/51{6 0| 200 150 | | K G| Sq Af (25, 60)
j gm_jm Y200 60| Al .G | S§ Al K g - 10 40
|EFMi1-- 16 0} 200 60| Sq .MI G- Al K 10 50 .
'|eEFr20 - 16- 0| 200 60| HI sg| A1 K G 59| K Hzl (10 40)
(EFP60 16" 0| 200 &0 R - G. K sq Al| sg{ K |(10 80)
EH 1 é 0] 200 &0 Al = Sg Sg G K . K 10 40
EH1 6 0| 200 100| A1 Sq| Sg G K G 25 30
EH90 . |6 o 100 20|-G ' K | Hi H2|] Al Sg| © 2,5 60
EHBs0 |6 ¢ | 200 100]| Sg. G K Hi| H2 K Al Sg| G 10 86
EK1/3 |6 o 200 &0] Al G Sqg Sg| K K 10 40
EK 2 6 | 200 60) Al G Sa Sg| K K 10 40
EK 32 6 0| 200 100 HI| A1 sg} G sSg| H2 K | G 25 30
EK 90 6 ¢| 200 100| G K HI H2| A1 Sg| G 10 %0
EL 1 6 0| 200 60| Af Sg K G 25 4D
KL2/3 & G| 200 100 A1 G Sg K G 50 40
EL3/375 |6 o | 200 10| Al G Sa K 50 4D
EL3NG |6 0| 200 40 HI| A1 Sg| G HZ K 50 60
EL S & 0| 200 100 Al G 59 K 100 40
ELS/375 |6 0| 200 100)] A1 G g K {00 40
EL5 G 6 0| 200 100 H1] A1 <g| G HZ K 50 B8O
EL & &6 0] 200 s0| A1 G Sg K 50 &0
EL&/400 |6 0| 200 40| A1 G Sg K S0 40
EL B & 0| 200 &) A1 G Sq K 25 40
EL it & 0| 200 100] A1 Sg| G K 50 40
EL ¢3725|6 0| 200 10| At Sg| © K 50 40
EL 12 6 0| 20 60| A1 sg| G K 50 &0
EL11737516 0| 200 60| A1 Sg| G K 50 40
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E-RGhren (indirekt geheizt) 13
Roore (U, 0| W, | U, | 0 [ 2| 3| a8 [ 8|7 | &8 0@ ) |%%
EL f2:pez) 6 0 200 60| Sg G K Al 50 &0
EL 13 & D 200 60 Al Sq G K 25 60
EL 20 & 0 200 100 H1 Al G 5g I Hd 50 70
EL 22 6 ) 200 100 H1 Al >g L 5 Hi 50 50
EL 31 & 1 LU0 60 H1 Al Sg & . H2 25 50
EL 32 b 3] 200 100 H1 Al Sg P42 K G 50 40
EL 33° é 0 2000 60 H1 Al Sqg G 12 K 50 40
EL 14 & 0 200 60 K HA Al Sq G H2 K 50 20
EL 35 & 0 2 1400 H1 Al 59 G M2 K 50 80
EL 3¢ & N 200 &0 H1 A Sg G H2 K 50 60
EL 37 G 0 200 150 H1 Al Sq & H2 K. 50 0
EL 38 & 0 200 60 K. M1 Sq G H2 K A 50 &0
EL 41 6 D | 200 100 H1 Al K Sg G ke H2 50 50
EL 41 b 1 200 100 Hi Al K Sg G b H2 50 30
EL 4] | 2] 0 200 - 100 H1 Al K K Sg G 4 H2 50 &0
q

| EL 44 & 0| zZoo 100 HI K Sg © K. H2| At | 50 50
EL 50 & D 200 &0 G Sg K K Al 50 &0
EL 51 | 4 0 200 150 G 3= K Al 50 ED
EL 53 5 0o 200 100] A1 G Sg [ K 0 40
EL 54 & o w0 60| Al G Sg K 50 60
EL 50 & 0 200 &0 H1 K Al g & K HZ2 50 20

1 EL 81 5 0 200 60 G K H1 H2 I Sqlk (A1 SO B0
EL 83 b D 200 100 Sq G K H1 H2 I Al K 50 60
EL 84 & 1] 200 60 G K H1 H2 A S5qg 30 &0
eLes s ol 20 10l 6 kK | w w2l A1 sq| o 10D 90
EL 91 b g 200 60 G K H1 Hi Al 59 25 &0
EL 111 & 0 200 100 Al 5g G K 100 50
EL 150 & 0 200 60 Al 5g G K 3D &0
EL 151 [ Q 200 150 Al ) K 5g 50 80
EL 151 4 & 0 200 100 G g K. K Al 100 40)
EL 156 é i 200 60 50 B0
EL B803 6 0| 00 100| Sg G K H1| H2 K AN 50 70
ELL 1 4 0 150 &0 G Sg Al K 10 &0
ELL 1 b ) 150 60 Al Sg K G 10 &0
EM 1 b D 200 Al G Al K 19 30
EM 1 b v 200 Al G Al G K 25 40
EM ] & 0 200 Al o Al Al K 10 70
EM 4 & 0 200 Al G Al Al K 10 40
EM § 4 0| 200 60| Sg G Al Sg| « 25 A0
EM 11 5 0 200 50) 59 Sg G A K 25 40
EM 34 6 (] 201 &k H1 A A g b2 K 25 a0
EM 35 f 1 200 H1 A1 A & I3 K 10 #0
EM 71 & ] 200 H1 A € A . :- 2 25 il
EM 80 () ] 200 G K 1 H2 | A 25 i
EQ 40 & i 100 20 Hi A1 59 o 3 3 ’ H 7 (1 30
EQ 80 4 ) 100 &0 Sq G ¢ H1 H Al " o (25 50)
ES 111 & 0 | 50 & A = K Al G |
EY i+ & D 0 A (v 80}
EY 51 4§ “ 13 N a | M 1
EY A0 % 1} 5f) p H 1 Hz Al




E-Rohren (indirek: geheizt)
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~ Hiihee i, ?II I!a“;.“li:._“_l_ J 8 | 4 | & i | 7 a4 |8 ks | “’:’u.
E'' 8. s i ) K H! . 221 Ak
E 8+ & 0 H 1 bz (A1)

EY 91 - §| G0 A1 K, b+ HZ (50 20
EVY {3 " ¥ 40 Ht Al 112 250 &0
EVY 3 4 ] a0 2 A 250 4D
Ex 1/1 5 0 an A2 A K. 100 40
EZ 2 5 0 50 A2 Al K 250 40
E7 4 6 0 30 A2 Al K 250 &0
EZ 14 6 0 n At a2l Kk 50 40
E7 12 A 0 a0 Ad A K 250 40
EZ 23] £ 1) 50 H1 A1 Az K H (100 20)
EZ 35 5 0 a0 HI | Ad A2 H? K (250  40)
EZ 10 5 D 50 Hi Al A2l K H2 (250  30)
EZ 41 & D 50 HT Al a2l K H? (100 50)
EZ 80 & 0 50 Al K 1 H2 A2 100 50
Ez150 |6 o | 90 Af K 250 100
E7 150 & 0 20 K At |250 100

|
F7 1 i+ 0] 30 Al a2l « 100 50
I |
1 |
Rivre o, 0| 0, w [ T 29T a5 6 ]7 a|o@ I



K-Rohren (direkt geheizt)

[11.4

13

S % s S
b |0, N o0 ey Th s w ] wo e ||, ow
| b o — =l _
M= i KB 2 ra k1 ' W & A3 PR
REC 1 : L [ S A o S H
KEC 1 i i 18 £ 30 Al
X5< )2 7 0 o R A a ) H (2.5 I
KDC 32 z 1] (0 1 A |12 G (2.5 80
KC 1 s [ | 0 4l e id jC
KC 3 2 () 1140} o | = 25 30
KC 4 ks 0 10 41 10, E-D_
KT 50 4 ! g o A1 (1 50
KC 51+ z { A0 A i (1 40
WCH 1 2 ) § 50 O Al (2.5 50
HCH 1 ., 0 |20 il Al E 5 G |0 40
KD 50+ Z ) &0 Al & (10 sl
KDD 1 2 0 150 & | & 10 30
KDD 1 P i} 150 > A 10 N
KE 50 + by 0 150 4 A L ({0 30
KF 1 2 0 120 130 59 o Hi H1 A 0 40
KF1 2 0 150 150 50 & H1 H1 Al in 40
KF 3 2 D f40 512 4, 1 5q HI (> 2,5 50
KF 4 2 0 150 a1 Al Sg H1 G 2.5 ‘5
KFZ 2 0 150 Al & Sg Al 2.5 80
KF 8 2 0 15 47 i35 5g Ad 2,5 50
TMF 35 2 0 | 03) A0 H1 Al 59 HA Hz G (10 40)
KH 1 2 0 60 49 Al 59 Sg G G 10 320
KK 2 2 0] 150 &7 A O Sg Sg G 10 30
KL 1 . 0 {50 103 Al (2 tg 25 60
L1 2 0 150 &l Al 3 Sqg 25 60
KL 4 2 ol 150 0| Ay G Sg 25 4D
KL § . 0 | 50 &0 A G Sq in 60O
KL 35 2 0 B 1 Q1) Hi Al 56 G HZ (25 1D]
KLL 3 2 0 150 A0 A1 g G (25  4D)
KLL 3 2 o] 150 &0 3 Al]l Sg (25 40)
KILL 32 2 0 I 20 G0 i Al G H2 5g (25  30j
KLL 32 2 0 {50 &0 =1 S Al 2 Sqg (25 30}
T TN TR T > | 9 | s[5 | & | 7! 8|9 )| o
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P-Rohren (indirekt geheizt) 16
Ribee |0, | w [ u, [ 8 [ 2] 3] 4| s | 6| 7 B @ g | %o
1 i ol g T
b 30 ) L AT A% SEEYy K G 5S¢ Hi| K ALl X H1 50 50
| ABC BO 3 10 10 Al HY | H2 A2| K 25 30
PaBC B0 | 55 1L 1) Al K, H1 H2 - 1. 25 30
|FAHC BD | O 1l 150 H1 H2 - K i Al 10 40
ll:cr: a4 Il ALy =1 HZ G K K Al 23 5D
locc s { 4 | & ® At HI| H2 24 50
leccas |as-10] 150 H1 HZ  Al]l G K 25 B0
cc8y  |os-10] 150 Al G K Hi| H2 K 25 BO
'T’F RO 5 - 10 5U | A H1 H2 K G 2 5t
lockeo | a5--i0] 150 00 G S¢ Hi| H2 Al] K 25 4D
! :
PCF B2 G510 180 Al HI | H2 K G 25 80
PCF B2 as+-10] W00 100 3 Ssq HI| H2 Al| XK 25 40
O g J:101 } k. H1 HZ2 Al K. 2.5 40
MCLHA _ R N L1 S 1 %g k. H1l H2 Al K G 50 80
| L8 1220 200 &0 G K H1| H2 K Sg|K[A1} 50 BC
|
' 2L 82 « ol 200 100] K 5 K Hi | H2 A1 Sqg |100 &0
PL B3 § -] 200 too| S G K. Hi| H2 K Al 50 70
PL 84 Ao 10| 200 &0 G K H1 H2 Al 5 | 30 4C
z r
2| Py 7 ra-z) o 1 Al H2| K [250 80
I PY 80 0i-201 90 K H1| H2 Al | 250
2Y 81 i y Yo H1 M2 Al (K)
o e - S 520 ML K. M1 HZ Al 100D
T R¥e3 | 05— 0 ) all H2 Al {b{i 100
) I
- |
X
T
[+
-
F
-
|
a
: -
T I T O O T R | S I 3 4 5 | n 7 9 laml v o




U-Rohren (indirekt gehaizt)
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L U-Roéhren (indirekt geheizt) 17
Ribre |Mp+u,| W, |0, | v T2 ]3] a[s |87 ]au]a]|L 0/
L

UAATT |3 +20 10 Al A2l K K, 2,5 30
UAA 91 0,520 10 K Ht H2 K. Al 2,5 50
UAA 91 |05 120 10 A HI HzZ| K K 2,5 50
UAA17Y |5 |22 10 K H1 H2 Al | K -
UAA171 |5 123 10 H1 Al K H2 K
UABCTBOD | 7 + 20 10 A H1 HZ A2 K 2,5 30
UABC 80 | 7 + 20 10 Al K H1 H2 2,5 40
UABC 80 | 7 + 20 | 200 H1 H2 K G A 10 40
UAF 21 0+ 20 10 ‘Hi Al K H2 2,5 30
UAF 21 0+ 40| 200 100 H1 Al Sqg K G K H2 (10 70)
UAF 41 2+ 10 10 HI A K. H2 2,5 10
UAF 41 2410 200 60| HI Al Sq G K H2 (10 40)
UAF 42 2 + 10 10 H1 Ad K " H2 2,5 30
UAF 42 2+10| 200 &0 | HT Al K. Sq G K H2 (10 40)
UB 41 7 4- 10 10 H1 - K Al Azl K H2 2.5 30
UBC 41 4 + 10 10 H1 Al Al K . H2 2,5 30
UBC 41 4 +10 | 150 H1 Al K H2 10 40
UBF 11 0+ 20 10 Al Al K 23 40
UBF 11 Q4+ 20| 200 100 Sl G Al K 25 40
UBF 15 T+ 201 10 Al Al K 2,5 40
UBF 15 T4+ 20| 200 100 5g G Al K 25 40
UBF B0 7+ 10 i KK H1 H2 Al Al 2,5 40
UBF 80 7+ 10 | 200 100 5g €] K H1 H2 Al K (10 BO)
UBF 171 0+ 20 10 Al A2 H1 K H2 (2,5 40)
UBF 171 D+ 20) 200 &0 H1 S5q G K H2 Al (10 80)
UBL 1 5 50 10 H1 Al K A2 H2 2,5 30
UBL 1 5450 200 100 H1 : Al 5q K H2 oo 50
UBL 3 5 4 50 10 Al A K 2,5 30
UBL 3 5+ 50| 200 100 Al '2g K too - 50
UBL21/71| 5 450 10 H1 Al Al K. H2 2.5 30
UBL21/71 |5 +50| 200 60 H1 Al G 59 K HZ 50 70
uc 92 0,5+ 10 | 15D Al K H1 H2 G K. 5 50
UCC 85 & -+20 150 Al (5 K H1 H2 K 45 80
UCCas |4 +20| 150 At G K. K 25 80
UCF 12 0 —20 | 100 Al G K 10 80
UCF 12 0+20] 200 100 5a|l G Ald K 10 90
UCH 4 D+ 20| 100 H1 K G Al Hz 25 10
UCH 4 0+ 20| 200 100 H1 5 Al g G H2 | G 25 40
UCH § D+ 20 ] 100 G Al K 25 30
UCH 5 O+20] 150 &0 ] Al g K K G 10 40
UCH 11 0+ 20 150 Al ' G K 25 &40
UCH 11 0+ 20| ZOD 60 59 G Al K _ 10 50
UCH 21 0+ 20 150 H1 A G HZ2 | K 25 80
UCH 21 0+ 20| 208 &0 H1 Al 59 &) K HZ | K 10 &
UCH 41 4+ 10| 100 HI1 Al G K H2 10 70
UCH 41 4 + 10 200 &0 Hi: Al K o4 K H?2 10 50
UCH 12 4 + 10 100 H1 Al G K H2 g 70
UCH 42 44+ 10 | 200 60 H1 Al K 5q K HZ 10 50
UCH 43 4 + 10| 100 HI1 Al G K H2 10 70
UCHA43 4 +10| 200 40| HI Al K Sq K H?2 10 50

Wihre JUHU, | W, [ 8, | 0 [ 2 | 3 | 4|5 |8 [ 78|81 %




U-Rohren (indirekt gsheizt)

I

iE

U-Rohren (indirekt geheizt)

(L)

Ritre | W, | W[ W, | 1 | 1 2 s [ % | = 2 | a | 98- | I, |v
UCH 71 0 —:0! 150 H1 Al G H2 | K 25 &0
UCH 71 0 =52 200 40| HI A S G K H2 | K 1D &0
UCH 81 0,5+-20 ] 100 K. H1 H2 A G 25 40
UCH 81 0,5+20] 200 1m0)] Sg G K H1 HZ At| G 10 BO
UcH171 | o +20] 150 Al G H1 H2 K
UCH1r1 |0+ 20| 200 &0 H1  Sg G K. HZ2 Al] K
UuctL 11 4 + 60 150 Al &) K ID0 40
UCL 11 21 80 200 6&0)| G Al Sg K 50 S0
UCL 80
UCL 80
ucCL 81 7 130 200 G K H! H2 A K 10 70
ucL 81 7+30] 200 60 Sg| K H! H2 Al K G 25 80
UEL 11 7+40| 150 &0 Al Sg : K G 10 40
UEL 11 T+ 40| 200 60 5 & Al Sg & . 25 50
UEL 51 2 + 60| 150 &0 Sgl G K Al ' 10 40
UEL 51 24+ 60) 200 100) G © AT Sg K 100 40
UEL 71 5 - 40 a0 20| Hi Sg G Al H2| K 25 50
UEL 71 54+ 40| 200 100 Ht Al G Sg | H2 | K 50 &0
UEL 171 54+ 60| 150 40 HI Al Sg G H2 K
UEL174 | 5+ 60| 200 60| Sgq G H1 : H2 Atl]| K
UF 35 2410 200 60| . Al Sg K |"K._ G 10 40
UF6 2+ 10| 200, &0 -A1l Sg K K . G 10 40
UF 9 24+10] 200 &0 H1 K At Sqg K K H2| G 10 &0
UF 11 54+410). 200 &O] A1 Sg| G K= - 10 7
UF 14 5420 200 é&! Al G | K Sq K K (25  40)
UF 15 54+20; 200 100 Al Sg G K K K i0 &0
UF 21 2+10| 200 &0 H1  A1] Sg K Lo K H2 10 &0
UF 40 2110 200 150 H1 A1 ] K K- G - Sg K -H2 (10 60)
UF 41 2410 200 &0 H1 Al K S¢ G K ~H2 10 60
UF 42 1+20| 200 150 H1t A1] K K 5 G| X H2 (25 80)
UF43. - ;

UF B0 { 20| 200 50| K G K H1 HZ K Al " Sg| K 25 4D
UF 85 1 4-20] 200 150 K G K HI'l H2 K Al Sg| K 25, éQ
UF B9 21 10| 200 40| -K G | K- Hi| H2 Al Sg| K 25 60
UF 171 D+20| 200 100] K K- | HI Sg G K | H2 At (10 100)
UF 174 0+30{ 200 100] K K Hl " Sq| G K- H2 Al (25 8Q)
UF 175 0- 30| z00 100] K K |-HI Sg|. G K H2 - Al (25  80)
UFM 14 5 10)] 200 80| Sg Al G Al K 10. " 70
UL 1 54+40| 200 S0 H1 iKY - 54 G K H2 (25 60)
UL 2 54+4130| 200 10] A1 G Sg K 25 B0
UL 11 5+40| 200 100| A1 Sg G K 100 70
UL 12 o+6p] 200 é0] Al Sg €] K 100 40
UL 24 54+40| 200 &0) HI Al Sq G K H2 (50 70)
UL 44 S 40| 200 0| HI Al Sq G K H2 50 60
UL 43 0+50)] 200 é0)| Ht Al K kK. Sg G K H2 (50 50
UL 44 5+40| 200 0] HY K S9 G K HZ| Al |(50 50
UL 71 5+40| 200 60| HI Al G Sg K H2 25 70
UL 174 5+50| 200 é&0) K H1  Sg G K HZz A1
UL 172 0+80)| 200 &) K Ht  Sg G K. H2 Al
UM 4 2+10)| 200 &0} H1 Sq Sq G Al K H2 ‘ 2,5 80
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Milwe |U, +U,| W, | B, | 1 2 3 | 4 5 0 7 i L | %%
UM 11 s + 10 150 100 g Al (G Al K. 10 70
UM 35 2= 10 200 H1 Al Al (> Al K H2 10 80
UMI7d | 5—10] 200 100 Sg At HI K G Al| H2 A

uaQ ao 2+ 10 100 20 59 G K H1 H2 Al [ K 1 0
uy 1 0+ 50 5i) 11 Al K H? 250 50
uy 2 6 +20| 30 Al K {00 30
uy 0 -+ 30 50 Al K 2510 50
Uy 4 54+ 30| 50 Al K (100 30)
Uy 14 0+ 50 A0 Al K 100 50
Uy 11 o+ 50| 50 HI  Af K H2 250 50
Uy 31 0 + 50 30 HA1 Al H2 K (50 S0)
uY 41 1 +30| 30 HI Al K H2 50 70
Uy a2 1+130| 30 H1 Al K H2 (100 50)
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V-Rohren (indirekt geheizt) 20
Mitre [0 (W] M, TU, v [ 2 [ 38 4w |8 ]2 ]8]e]|L %
VOF {1 A | 10 Al | A2 K ' .5 30
VB 1 7 - 200 100 Sg| & Al K 25 40
vE 9 5 51| 200 AT ¢ G |25 50
e 4 7 —80| ‘oo Al G K 10 30
vEL 19 7 - BO| =280 & & Al 59 KX 25 40
verdr | 7 0 30 1en Al G X 25 60
Tt 12 o300 P AD sgl G Al K 10 50
'EL4Y | T BOL 43D o At Sg K G [ 40
'Ly | 7 B0 M0 0] G ALl Sg K 25 30
S0l B -
YEL §4
| vE 3 S 50 200 100] Ad sg K K G | 5 s0
[ve7 5--50( 200 100 Af Sg K K G | 10 &0
'VE 14 5 S W0 0] A1 G K Sg K K 25 4D
B 5= Oy 200 0] Al 5q K & 25 A0
L 2 Toannf 200 100 Al Sq K G |50
Hhuy g sl 30 Al K 100 40
v g 330 0 Al i ! K ) 100 40
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